EARAROBEEIERT — 2 N— IBISH —F

20185F2H23H (&) 20m55#4H

mﬁTEfF.—*ri'alJ A2 ¥R (xwlw | lmEmml - |5 ) eom 8
[AE4£] 17 :460,000  ~ 2 3#&:106,000  ~ 3 #&:46,000 3 ~ 43#%:33,000™ 5 3&:23,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . = il . —3-0- - =
1 o | Ny E—HLF (- fo4 | EERA 1.(4_2).3 2-3-2-1 | 38.0 3 | 476 ;zé%: &2
QA KSAY B:ALTLRO-X R I TN
N . 4 o6 | BARE 1:42.6 5-55-5 | 37.9| — 2 438 | hOEE=AR (S2HR)
2/g|g| 7B/ ANO—X 56.0 (1 1/2) () |PEEE
ZRFAd—I R B:7—3—-I—Ya ESstie)
. t o4 | BHEN 1:42.9 4-4-3-3 | 38.4| — 1 423 | BOEE (5H1)
3|g| 7| FV-ATE- SRR (1172 o |
LihIotr R BNy v HO%%
N 9 . R P T ER g : 04— — HEZEZ (5#)
A B GBS, | erer [®a) - | o | e Ang o
L:TUHSA XTI R BN TALET 2pdk e
— EHKRE 143. —6-7- . - FILELE (B1R)
515|5| FVIFazs - Y- T IR A P same
R:h74=2>T B:T7RY14YIv7 TJrZ—kNTr—L
5 i 6 | AEHE 1:43.7 7-6-8-8 |38.7| — 7 461 | BHOBE (5H#)
6|8/ 9| F7 /Y=Y 54.0 2172 o) | EEBA
:Nd B:2eFT7LT)-—X H ®E
. N R AE 144, —-8-6- . — EEM (1)
7 4|V T —Fx i 5 ot (11414/20> 8-8-6-6 | 38.7 8 (zﬁs) /E{:Tf% A
G147 hT—EY BT BT HET 7 — L
i ST WA 4 6 | WTHZ 1:44.2 1-1-1-2 | 40.2| — 4 508 | JIIUSBEAZ (S54R)
gl 1|1|I-MEIVT 5.0 (1 1/2) (o) | W) T7=ZpEvar
w4377 B3Iy d BB
— N KEET] 144, -8-9- . — KEFEKR (4
9 gl|7¥ATFvLY o 54.0 1(434)8 9899 394 o i‘r?) IMEEA :
L:wiNyBLhT1 BRIMETFv R ¥ % & AEMBS
® I—F—@EBIERL
13—7F— 1,2,3,7,8,5,9,4,6
20—7+— |[1,3,2,7,8,(5,9),(4,6)
3T—7— 1,2,7,3,8,4,5,9,6
43—+ — 2,1,7,3,8,(4,5),9,6
[ RN
B 2 340H 794K 2-8 230 & 2-8 720M &R 2-7-8 320M
# B 2 1204 2-7 150M B E 2-8 710M EE 2-8-7 2,930
8 110 7-8 150H B H 2-8 1,390
7 1009

ABICOVWTRDTEEERROODE. TR LIV,




